Chapter 11 Market Intervention

Study Guide

11.1 Price Ceiling (Maximum Price Control)
1. An effective price ceiling will be effective only if it is set (above / below) the equilibrium price.
2. When an effective price ceiling is imposed,

· the price (increases / decreases);
· the quantity transacted (increases / decreases);
· a (shortage / surplus) exists;
· total revenue (increases / decreases).
11.2 Price Floor (Minimum Price Control)
3. Refer to the following diagram.
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(a)
Without any market interventions, the equilibrium price is $_____ and the quantity transacted is _____ units. The total revenue of the sellers is $_____.

(b)
Suppose the government imposes a price floor at $60. 

· The price floor is (effective / ineffective).
· The quantity transacted is _____ units.
· There is a (shortage / surplus) of _____ units.
· Total revenue is $_____.
[image: image2.bmp]11.3 Quota
4. The diagram on the right shows the demand-supply diagram of good X. Suppose a quota of 30 units is imposed on the good.

(a)
Draw the supply curve after the imposition of quota (Sq) in the diagram.

(b)
After the quota is imposed, the price of good X is $_____ and the quantity transacted is _____ units.
11.4 Tax on Goods and Services (Sales Tax)
5. There are two ways of levying a sales tax: _______________ and ad valorem tax.

6. Levying a per-unit tax will lead to (an increase / a decrease) in supply and the supply curve will shift vertically (upwards / downwards).

7. When a per-unit sales tax is levied,

· the price (increases / decreases);

· the quantity transacted (increases / decreases); 
· consumers’ expenditure (increases / decreases / may increase, decrease or remain unchanged);
· producers’ revenue net of tax (increases / decreases / may increase, decrease or remain unchanged) ;
8. When a per-unit tax is levied, total sales revenue will increase if the demand for the good is (elastic / inelastic).
9. The diagram below shows the demand and supply curves of a good. Suppose the government imposes a per-unit tax (t1) on the good. Indicate the consumers’ tax burden and the producers’ tax burden in the diagram.



10. When demand is (more / less) elastic than supply, consumers’ tax burden will be greater than producers’ tax burden.
11.5 Subsidy on Goods and Services
11. Providing a per-unit subsidy will lead to (an increase / a decrease) in supply, the supply curve will shift vertically (upwards / downwards).
12. When a per-unit subsidy is provided,

· the price (increases / decreases);

· the quantity transacted (increases / decreases);
· consumers’ expenditure (increases / decreases / may increase, decrease or remain unchanged);
· producers’ total revenue including the subsidy (increases / decreases / may increase, decrease or remain unchanged).
13. When a per-unit subsidy is provided, total sales revenue will increase if the demand for the good is (elastic / inelastic). 
14. Suppose a per-unit subsidy is provided for a good. Indicate, in the following diagram, the sharing of the subsidy when demand is more elastic than supply.
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